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addTwoNumbers(
result = x1 + x2

result

main(String[] args) {
X1 =
X2 =
addTwoNumbers (x1, x2)
System.out.printlin( )

———

Ehvek: build failed

t find symbol variable result
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Done .



addTwoNumbers(
result = x1 + x2
result

main(String[] args) {
X1 =
X =
result = addTwoNumbers(x1,x2)

System. (printin(result)
)

"C:\Program Files\Java\jdk-15.0.1\bin\java.exe" "-javaagent:C:\Prq




main(String[] args) {




result = x1 + x2
result

result = x1 - x2

result




@oubT® addTwoNumbers (

result = x1 + x2
result

main(String[] args) {

(::::::Dnumber = addTwoNumbers(y1,y2)

System. .println(number)
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